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In this section, we will use our knowledge of identities to replace some parts of the
equations we are solving with equivalent expressions that will make the equati~ns
easier to solve. Here are some examples.

ExAMPLE 1 Solve2cosx — 1 =secx, if0 = x <27

ExaMPLE 2  Solvesin26 + V2 cos 8 = 0,0° < 6 < 360°.

ExaMPLE 3  Solvecos20 + 3sin g — 2 = 0,if 0° = 6 < 360°.
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exampLE 5 Solvesin @ — cos 6 = 1,if 0° = 6 < 360°.
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Solve each equation for 8if 0° = § < 360°. Give your answers in degrees.

1.\V3sec 6 =2 2.\2csc =2
5.4sinf —2csc=0 7.secf—2tan B =0 9. sin20 — cos 6 =0
11. 2cos 6+ 1 = sec 8

Solve each equation for x if 0 = x < 2. Give your answers in radians using exact
values only.
13. cos 2x — 3sinx =2 =0 14, cos2x—cose =2 —0

16. sinx = —cos 2x 18. 2sinx —cosx — 1 =10 20. 4cos?x —4sinx—5=0

2sinx = = i
21. 2sinx + cotx — csc.x 0 23. sinx + cosx = V’Z-
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25.\'§sin0+c050=\[§ 27. 3sin @ —cos 6 =1

26. sin 8 — V3 cos 8 = \3 28.sin @ — Y3cos 6 =1

For each equation, find all degree solutions in the interval 0° = 6 < 360°. If round-
ing is necessary. round to the nearest tenth of a degree.

33.6cos 0+ 7tan 6 = sec 6

34. 13cot @+ 1l csc 8= 6sinf

35.23csc? @ — 22cotfcscf— 15 =0




